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-— Attempt Five questions in all. Question No. 1
is compulsory. All questions carry equal

marks.
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What are the arguments for and against portraying the

current world order as an American empire ?
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Examine the implications of the emergence of the new

nations for world politics.

T w=al = Saafy 9 faya uoEifa o gsA g gaEi
1 gHrEm Shifsa |

Do you agree with the view that the failure of North-
South dialogue gave birth to South-South cooperation ?

Give arguments in support of your answer.
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Writ,e notes on the following :

@ Changing character of non-alignment movement.

(Z1) What are the prospects of India becoming
a permanent member of the UN Security

Council ?
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“The American President combines in his person the offiees

of King and Prime Minister.”—Brogan. Examine the

statement.
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“The British Parliament can do every thing but can not

make a man a woman and a woman a man.” Examine

the statement.
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Examine the powers and position of the Standing

Committee of the National People’s Congress.
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8. Write notes on the following :

() The Swiss Federal Council is neither parliamentary

nor presidential. -

@) Why are committees in the US Congress called

“Little Legislatures” ?
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